Word Problems

Addition & Subtraction Mix

1. O birds were sitting on a branch. 3 more birds joined them.

How many birds are now on the branch?

2. Mum made 6 cupcakes. We ate 3 of them.

How many cupcakes are left?

3. Penny has 2 big chocolates and 7 small chocolates.

How many chocolates does she have altogether?

4 Will sells cars. He sold 9 cars altogether. 1 cars were white, 3 cars were blue, and the

rest were red. How many cars were red?
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Word Problems Answers
Addition & Subtraction Mix

1. O birds were sitting on a branch. 3 more birds joined them.

How many birds are now on the branch?

8 birds

2. Mum made 6 cupcakes. We ate 3 of them.

How many cupcakes are left?

3 cupcakes

3. Penny has 2 big chocolates and 7 small chocolates.

How many chocolates does she have altogether?

9 chocolates

4 Will sells cars. He sold 9 cars altogether. 1 cars were white, 3 cars were blue, and the

rest were red. How many cars were red?

2 cars
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